
8926 447 01001;2     HD WCU FISHER

Ref Description Part 12nc Service part

50 TYPE PLATE GRASS VALLEY/CE
GEN1 TRIAX CONN.ASSY FISCHER 3922 407 30531 Yes
GEN2 KIT. CCU DITAX 220V 46153241AA Yes
GEN3 HD WCU BASIC 3922 407 48001 Yes
GEN4 PAN SCR STL ST M3X8 2522 201 08032 Yes

page: 1 - 1 3/6/2008



8926 447 02001;2     HD WCU TRILOCK

Ref Description Part 12nc Service part

1 HD WCU BASIC
2 TRIAX CONN.ASSY TRILOCK 3922 407 30551 Yes
3 PAN SCR STL ST M3X8 2522 201 08032 Yes
4 KIT. CCU DITAX 110V 46153242AA Yes
50 TYPE PLATE GRASS VALLEY/CE 3922 405 01784 Yes

page: 1 - 1 3/6/2008



8926 447 03001;2     HD WCU ARD

Ref Description Part 12nc Service part

1 HD WCU BASIC 3922 407 48001 Yes
2 TRIAX CONN. ASSY ARD 3922 407 30571 Yes
3 PAN SCR STL ST M3X8 2522 201 08032 Yes
4 KIT. CCU DITAX 220V 46153241AA Yes
6 DISTANCE RING 47268710AA Yes
50 TYPE PLATE GRASS VALLEY/CE

page: 1 - 1 3/6/2008



8926 447 04001;2     HD WCU LEMO 4

Ref Description Part 12nc Service part

1 HD WCU BASIC 3922 407 48001 Yes
2 TRIAX CONN. ASSY LEMO 4 3922 407 30591 Yes
3 PAN SCR STL ST M3X8 2522 201 08032 Yes
4 KIT. CCU DITAX 220V 46153241AA Yes
50 TYPE PLATE GRASS VALLEY/CE

page: 1 - 1 3/7/2008



8926 447 05001;2     HD WCU BBC LEMO

Ref Description Part 12nc Service part

1 HD WCU BASIC 3922 407 48001 Yes
2 TRIAX CONN.ASSY LEMO BBC 3922 407 30611 Yes
3 PAN SCR STL ST M3X8 2522 201 08032 Yes
4 KIT. CCU DITAX 220V 46153241AA Yes
50 TYPE PLATE GRASS VALLEY/CE

page: 1 - 1 3/7/2008



8926 447 06001;2     HD WCU LEMO 3

Ref Description Part 12nc Service part

1 HD WCU BASIC 3922 407 48001 Yes
2 TRIAX CONN ASSY LEMO 3 3922 407 30631 Yes
3 PAN SCR STL ST M3X8 2522 201 08032 Yes
4 KIT. CCU DITAX 220V 46153241AA Yes
50 TYPE PLATE GRASS VALLEY/CE

page: 1 - 1 3/7/2008


